“Arnold” (Current Balance)(5H40.40)

Location: 28-3C

Concept/Purpose: Force on Current Wires
Procedure/Explanation: A wooden rod, supported and pivoted at its center of mass, has a single loop of wire attached to one end and a small weight hanger at the other end. The rod is positioned so that the wire loop is directly above a large horseshoe magnet. When current is passed through the loop, the loop becomes attracted toward the magnet. Masses can then be added to the other end of the rod to counteract the force caused by the current’s magnetic field. The magnet can be rotated 180º to cause repulsion of the loop instead of attraction.  The magnet can also be oriented such that it’s field lines are parallel to the direction of current, resulting in nearly zero force between the wire and magnet. The direction of current can also be switched at the power supply.

